10 (a) The box plot shows the heights of a group of boys in a school.
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(1) Write down the median height of these boys.

AATISWET e e cm (1 mark)

(i) Find the interquartile range of the heights of these boys.

ANSWET 1o eees e ssnss e ses e ssne b esnsreens cm (2 marks)

6 56 boys and 52 girls took an English test.
The box plots show the distributions of their marks.
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Give two differences between the boys’” marks and the girls’ marks.

Difference 1 oo eeeeeneetesteesstestesstesteseesneeenstessseesnennenneeenseas

(2 marks)




